Using Ratio Language
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4. Julie is correct. If we halve the number of yellow marbles then we need to halve the
number of green marbles. Four yellow marbles would mean we have two green marbles
in total.

5. Ellis is correct. To have one grape, we divide the total by three so we need to divide
the six bananas by three. Six divided by three is two so for every one grape, there are
two bananas.

6. Various answers, for example: For every four carrots, there are two potatoes; for every
two carrots, there is one potato; for every three carrots, there are three potatoes.
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